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QUESTION 1

A CIO has a requirement to reduce OpEx by 20% YoY. Which 2 data points should be illustrated to the CIO in this
situation? (Choose 2)

A. IDC states that managing Nutanix environment takes 71% less time than managing a legacy environment
B. Gartner lists Nuanix as the leader in the Magic Quadrant above all other competitive offerings

C. IDC claims Nutanix provides 5year TCO savings of 58%

D. Gartner has validated that Nutanix achieves nondisruptive, rolling upgrades

E. IDC states that Nutanix customers experience a 510% ROI on average over 5 years

Correct Answer: CE

QUESTION 2

A prospect who just bought new UCS servers needs a storage refresh and is interested in Nutanix. How should you
proceed?

A. Uncover when the servers will be up for refresh

B. Discuss the ability of Nutanix to backup to AWS

C. Discuss the ability of Nutanix to add storageonly nodes

D. Determine if the servers fall on the Nutanix compatibility matrix

Correct Answer: D

QUESTION 3

What is the primary concern of a typical system administrator?
A. Employee headcount

B. Shadow IT

C. Complex Management

D. Salary

Correct Answer: B

QUESTION 4

An IT decision maker often gets locked into buying 2 or 3 years cloud"packages" upfront to take advantage of better
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discounts. Which customerbenefits does this most model conflict?
A. Scale quickly

B. Freedom of choice

C. Fractional consumption

D. Simple to manage

Correct Answer: C

QUESTION 5

A large retail company needs toimplement ROBO solution acrosshundreds of sites with limited budget persite. Which
Nutanix capabilityallows the customer to meet its requirements within budget?

A. Near Sync

B. 1Node Cluster

C. SnapMirror

D. Autoenabled Deduplication

Correct Answer: B
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